CIELABUL1 standard lightness I*
I* Ync YW nc— =100,

¥ ClELABUL =66 (Y/Y) Y30-16  (Y;=18, Y,/ 100<Y<=Y,o)
1% y(3,6)=23,* ,(18)=50,I* 1y (90)=97

I*95=96,50,y=3,0, 1¥=1/3,0=0,33
I* 150,00 §,=65,49 D,=-15,49
I* 3 6=22,72,1%,=50,00 Y,=18
I¥,=50,00 m,=50,24
L* =49, I* =50
application
range
1Y,=18
Y36 Y=o

Iog(AY) CIELABu1
AY tristimulus value difference
Yac=Yw - nc=100,
¥ ClELABUL =66 (Y/Y) Y30-16  (Y,;=18, Y,d/100<Y<=Y,o)
log(dY) = (1/3,0) log[3,0¢,/65)] + [1-(1/3,0)] logY)

dYei=13,39,y=3 7, 1/=1/3,0=0,33

dY,6=4,58 S ~.05,49 D,=-15,49!

dVaeL,5% Y18 dY=4,58 1
1v,=18

1 Yw=90

application
range

Yn=3.6

log (AY/Y) CIELABu1
_ tristimulus value sensitivity
SOV Yoc=Yw - nc=100,
I ClELABUL =66 (Y/Y) Y30-16  (Y;=18, Y,d/100Y<=Y,o)
log(dY/Y)= log[3,0(Y,/65)] - (1/3,0) log{/Y,)
= (1/3,0) log[3,0¢,/65)] - (1/3,0) log)

log(dY/Y)=-0,59 m=-0,35 = = _
-l

=50, dY,=4,58 dY,/Y,=0,2544 1

application

S.Ange

1
(dY/Y)=0,1488,=3,0, 14=1/3,0=0,33
(dY/Y)g=0,2544 §,=65,49 D,=-1.5,49
(dY/Y},6=0,4342 Y,=18, dY=4,56
1y,=18
1 Yw=90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

CIELABul
tristimulus value contrast
Yoc=Yw - nc=100,
I* CiELABUL =66 (Y/Y) Y30-16  (Y;=18, Y,d/100Y<=Y,o)
log(Y/dY)= - log[3,0/,,/65)] + (1/3,0) log{/Y,))

= - (1/3,0) log[3,0¢,/65)] + (1/3,0) logy)

1
(Y/d\p5=6,71,y=3,0, 1¥=1/3,0=0,33
(Y/dY)g=3,92 S,=65,49 D,=—1549 application
(Y/dY}6=2,30 Y,=18 dY;=4,58 1 range
1y,=18

Yw=90

Yn=3.6

i/l CIELABuU1 relative standard lightness I*/I* ,
I Yoc=Yw =100,

I CiELABUL =66 (Y/Y)Y30-16  (Y,=18, Y,/ 100Y<=Y,0)
1 (3,6)=23, ,(18)=50,I* ,(90)=97

Fagl =L, 93 y—3 0 Y=1U30-033  w
g 49D,=-1549
[P/ =o 45 7 =50 oo =18

application
1 range

1y,=18
Yy=90

/1% J=1, m=-022 =
Yn=3,6

log(AY/AY,)
AYIAY,

CIELABuUL relative
tristimulus value difference

Yoe=Yw - nc=100,

I CiELABUL =66 (Y/Y)Y30-16  (Y,=18, Y,/ 100Y<=Y,0)
log(dY/dY,) = [1-(1/3,0)] log¥{/Y,,)

dYey/dY,=2,92 y—3 o 1§=1/3,0=0,33
dY¢/dY,=1,00 49 D,=-15,49
dY5,gdY,=0,34 Y, 18 dY=4,58

P 4
#

application
range

Y,=18
Y=90

Y236
log [(AY/Y) I (AYIY)] CIELABuU1 relative
tistimulus value sensitivit;
SIS =@YMIAYNY), D S P oY
I CiELABUL =66 (YY) Y30-16  (Y,=18, Y,/ 100Y<=Y,0)
log[(dY/YV)/(dY/Y),] = - (1/3,0) log¥/Y,,)

(dY/Ypo/(dY/Y)=0,58,y=3,0, 14=1/3,0=0,33
(dY A dY/Y)=1,00 s,: 5,49 Dy=—15,49
(@YIVEguM=1,70 ¥,=18, dY=4,58

application

log[(dY/Y)(dY/Y),]=0, m,=-0,33
* =50, dY,=4,58 dY,/Y,=0,2544

YN=3.6 | Yw=90

log [(Y/AY) I (YIAY),] CIELABuUL1 relative
tistimulus value contrast

CIC=(YIBY(YIBY), A S Valds 50
I CiELABUL =66 (YY) Y30-16  (Y,=18, Y,/ 100Y<=Y,)
logI(Y/dY)/(Y/dY),] = (1/3,0) loglY/Y,)

(Y/dY}o/(Y/dY)=1,70,y=3,0, 14=1/3,0=0,33
(Y/dY)g/(Y/dY)=1,00 §=65,49 Dy=—15,49
(YIdY} f/(Y/dY)=0,58 Y,=18, dY=4,58

log[(Y/dYY(Y/dY),]=0, m/=0,33 S
I* =50, dY,=4,58 Y,/dY,=2 = = ~
< application
range
v,=18

Yy=90

YN=3.6




